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SECTION A (40 marks) ».1 k 1#,‘:
S '3“ D
Answer ALL questions in this section, § iz =
,\ﬂgﬁ‘?} \&
I.  Name any four variable gases in the atmosphere. {4 marks) +¢:
.ll
2. Explain the importance of adjusting the power output at sunset in a radio station trangmitting ”
the amplitude:modulating (AM) waves: {4 marks) ]"
dg  Draw a curve showing the annual average lemperatire variation in the Northern Iumiﬁhm;k,]
ma
&+ Match the estimated residence time with the appropriate source of water shown in
# able]. (4 marks)
Table 1 \ e
Source of water | Estimated residence time L
. e y
- Atmospheric watere—] 2 weeks 0
- Oceans and seas 10 days ; : i
i . I‘q" H'\'_ I.I
- River channels 2 weeks woeng year [l A Eﬂ J Iln'
- Soil moisture; mgﬁé i JAR ok
2 R e
Differentinte between hygroscopic ahd condensation nuclei. = . :;;_':,__e_':-”{l- marks)
6. {nl_ Name two types Hcl& that are formed from unstable air parcels. {2 marks)

'[fg State two ingredients pecessary in the formation of cloods. ~ wal- Il:r"“'F"'*"-"" {2 marks)
= il - ”l.
7. Explain why surface winds blowing over the oceans are close to being geostrophic. (4 marks)

8. Distinguish between the climatic conditions experienced in the A and E zones of the Koppen
scheme. (4 morks)

9. Explain the appearance of the blue sky when the sun is overhead. (4 marks)

10.  Explain any two h:Ttanﬂ:fd using the statistical method to predict weather patterns,
q (4 marks)

SECTION B (60 marks)

Answer any THREFE guestions frim this section. AT
e
1. With the aid of labelled dingrams, describe the following lifting mechanisms: 73
-8
a)  topographic lifting: ks)
ﬂﬁ,«ﬁ{;@"’w
(b}  convergence lifting. % (10 marks)
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A
12, w)  1h Draw a labelled diagram of the atmosphere showing temperature variations ;fg
within its layers. { 10 marks T
{it}  Explain the importance of the second layer to humans. {3 marks)
il
(b} () Define the term “temperature inversion”, {3 marks) .4:.
{in}  Explain the relationship between temperature inversion and atmospheric o
pollution. {2 marks)
(it}  Explain why fog usually forms in mountain valleys, :%D {2 marks)
5
L
13.  (ap¥ Draw alabelled diagram of & mercury barometer, {6 marks)
({}] State three factors that affect wind Row, (3 marks)
(e} Usealabelled flow diagram to illustrate formation of a land breeze, (7 marks)
(d)  Differentinte between land breeze and sea breeze. interms of their:
(i}  time of occurrence; ’Q;,_. ' .‘ N _ (2 marks)
(i}  moisture content. S\ » “.r " (2 marks)
(}O g 2 15
g
14, {(a)  Describe the uge of the I'nlin ' %nmc&u of mfumuﬂ:mTﬂ undnmﬁéﬁﬁg past climates.
f
(i)  ocean sediment '“I P e (3 marks)
fiil}  tree ring widths: (% marks)
i) glaciers, o W chele Ay (3 marks)
(k) of climate change on glﬂha_ | fish resources. (6 marks)
Fglﬂ! '|:I Rl i § 1
{c) I. n the |mpm'tnn:.'= nff IHFI'.'.E.‘]IIJ-E tree fm:it Cover on L‘FJIIIIHI: change. {5 marks)
et | ki | '-' -"""ﬁll"' Mradige Frtny Rt
& (@) Describe the difference between cloud droplets and rain droplers. (3 marks)
(b) () With the aid of a labelled dingram, describe the collision process in the growth
of cloud droplets. (11 marks)
{iiy  Use alabelled diagram to illustrate the ice-crystal process in the growth of clood
droplets. (6 marks)
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